DOI: https://doi.org/10.38035/gijea.v1i4 https://creativecommons.org/licenses/by/4.0/

Impact of Demographics on Consumer Preferences in Online Shopping: An Analysis of Age, Gender, and Education Factors

Jainish Gami¹, Nirav Patel², Vibhu Aghera³, Nishit Patel⁴, Manthan Gondaliya⁵, Rahul Chauhan⁶, Andino Maseleno⁷

¹Unitedworld Institute of Management, Karnavati University, Gandhinagar, India, <u>Pateljainish2005@gmail.com</u>

Corresponding author: andino@bahasa.iou.edu.gm⁷

Abstract: This study explores the influence of demographic factors-age, gender, and education level-on consumer preferences and behaviors in online shopping. Through a quantitative analysis using ANOVA, data from 119 participants highlight that age and education level significantly impact perceptions of platform selection, product security, and the importance of reviews, while gender differences are less pronounced. Key findings indicate that younger consumers value convenience and variety, while higher-educated users prioritize security and trust in reviews. These insights are critical for e-commerce platforms aiming to enhance user experience and drive engagement by aligning their strategies with demographic-specific needs. The study provides a foundation for further research on evolving consumer behaviors and offers global relevance as e-commerce continues its rapid expansion.

Keywords: Online Shopping, Consumer Behavior, Demographics, e-commerce preferences

INTRODUCTION

Online shopping has significantly transformed the retail landscape, especially with platforms like Amazon leading the way in terms of user experience and technological innovation. As e-commerce continues to grow, customer behavior has become a focal point for businesses looking to enhance satisfaction and drive loyalty. Research indicates that gamification within online platforms, such as Amazon, can enhance customer satisfaction and loyalty by integrating interactive elements without monetary incentives (Bauer et al., 2020). This development reflects a broader shift towards creating more engaging and personalized digital shopping experiences. Furthermore, the ongoing digital transformation and the

²Unitedworld Institute of Management, Karnavati University, Gandhinagar, India

³Unitedworld Institute of Management, Karnavati University, Gandhinagar, India

⁴Unitedworld Institute of Management, Karnavati University, Gandhinagar, India

⁵Unitedworld Institute of Management, Karnavati University, Gandhinagar, India

⁶United Instituteworld of Management, Karnavati University, Gandhinagar, India

⁷International Open University, Gambia, <u>andino@bahasa.iou.edu.gm</u>

adoption of innovative technologies in emerging markets have reshaped how consumers interact with e-retailers (Malekpour et al., 2023).

One critical factor influencing online shopping behavior is the integration of consumers' social and cultural values into e-commerce platforms. Saleh et al. (2019) emphasize the importance of tailoring online shopping experiences to meet specific customer requirements, including religious and social beliefs, particularly in markets influenced by Islamic values. This underscores the role of cultural context in shaping online consumer behavior, which has implications for platforms like Amazon as they expand into diverse markets. On a global scale, foresight into online shopping behavior, such as the "what next syndrome" studied by Sharma et al. (2019), highlights how consumers' decision-making processes are evolving in response to the dynamic nature of e-commerce platforms.

Technological innovation has played a pivotal role in shaping customer experiences in online shopping. The cashier-free checkout systems proposed by Agrawal and Mittal (2024) represent an effort to bridge the gap between the online and in-store shopping experiences, potentially offering Amazon a model for improving convenience and reducing friction in the purchasing process. Similarly, the phenomenon of showrooming—where consumers browse in physical stores but make purchases online—has been shown to drive customer inspiration and foster loyalty when managed effectively (Frasquet & Ieva, 2024). This behavior is particularly relevant in omnichannel retail strategies, which combine online and offline elements to create seamless shopping experiences.

Environmental concerns and sustainability have also emerged as important factors in online shopping behavior. Jalil et al. (2024) discuss the integration of trust and green supply chain management practices to enhance online shopping satisfaction, suggesting that sustainability initiatives can positively influence consumer trust in e-commerce platforms like Amazon. The spillover effects of data breaches on consumer perceptions, as explored by Park et al. (2024), further demonstrate how trust plays a critical role in shaping online shopping behavior. A platform's ability to maintain consumer trust through secure data practices is essential for long-term customer retention.

The COVID-19 pandemic has further accelerated changes in consumer behavior, with shifts in e-retailer preferences and heightened price sensitivity during crises (Rahmani & Kordrostami, 2023). Post-pandemic motivations for e-retailer preferences, as studied by Roy and Shaikh (2024), indicate that consumers are increasingly seeking convenience, trust, and safety in their online shopping experiences. This is particularly relevant for platforms like Amazon, which have had to adapt to changing customer expectations in the wake of the pandemic. Moreover, coopetition between online and offline retailers, as highlighted by Halan and Singh (2023), suggests that the boundaries between these two channels are becoming increasingly blurred, offering opportunities for both collaboration and competition. In addition to technological and environmental factors, behavioral aspects such as impulse purchases during emergency situations have been found to be influenced by permission marketing and emerging technologies like blockchain (Nigam et al., 2023). This aligns with broader trends in retail innovation, where technological advancements from 1980 to 2020 have drastically reshaped the industry (Krishnamurthy & Venkitachalam, 2023). As retailers like Amazon continue to innovate, they must consider the impact of new technologies on consumer behavior.

Amazon's exploration of personalized livestreaming experiences through services like Amazon Explore has raised questions about the platform's potential competition with the hospitality industry (Ramadan et al., 2023). These developments highlight how e-commerce platforms are expanding beyond traditional retail boundaries to offer more immersive and customized experiences for consumers. As Verhoef et al. (2023) and Rajagopal (2022) reflect on the long-term effects of the pandemic on retail, it becomes clear that platforms like

Amazon must continue to evolve in response to shifting consumer needs and technological advancements.

METHOD

The research methodology for this study is designed to explore the factors influencing customer behavior in online shopping, specifically focusing on consumers in Ahmedabad. Given the rapidly expanding e-commerce landscape and the increasing reliance on digital platforms like Amazon, it is essential to understand the attitudes and behaviors that drive consumer choices. Drawing on previous research (Akroush & Al-Debei, 2015; Klaus, 2013), this study aims to identify key determinants of consumer satisfaction and trust in online shopping environments and their subsequent impact on purchasing decisions.

Objectives

- To examine the impact of trust-building mechanisms on consumer satisfaction and repurchase intentions in the context of online shopping platforms such as Amazon.
- To assess the influence of product variety, pricing strategies, and convenience on customer loyalty and shopping behavior in Ahmedabad's online retail sector.

Hypotheses

- 1. **H1:** There is a significant positive relationship between trust-building mechanisms (such as secure payment options and customer reviews) and consumer satisfaction in online shopping (Anaza & Zhao, 2013; Liu & Tang, 2018).
- 2. **H2:** Product variety, pricing strategies, and convenience have a significant impact on consumer repurchase intentions and loyalty toward online shopping platforms (Kumar, Eidem, & Perdomo, 2012; Petrescu, 2011).

The study adopts a quantitative research design, employing a structured questionnaire as the primary data collection tool. A total of 101 samples were collected from residents of Ahmedabad using a Google Form, which was shared across digital platforms to reach a broad and diverse respondent base. The sample size was deemed appropriate for preliminary analysis and consistent with similar studies conducted in online shopping contexts (Liu & Hong, 2016). The questionnaire included items that measured trust, product variety, convenience, and pricing strategies, with questions designed based on validated scales from prior research (Akroush & Al-Debei, 2015; Klaus, 2013).

For data analysis, SPSS software was utilized to conduct descriptive statistics, correlation analysis, and hypothesis testing. Descriptive statistics provided insights into the demographic profile of respondents and their online shopping habits. Correlation analysis examined the relationships between key variables such as trust, product variety, pricing, and consumer loyalty. Hypothesis testing (using regression analysis) helped to determine the significance and strength of these relationships (Kumar, Eidem, & Perdomo, 2012). This analysis provided a robust understanding of how different factors impact consumer behavior in the digital shopping environment.

In conclusion, this methodology allows for a systematic investigation of the factors influencing consumer behavior in Ahmedabad's online shopping market, offering valuable insights for retailers aiming to enhance customer satisfaction and loyalty. The integration of prior research on trust and convenience (Liu & Tang, 2018; Anaza & Zhao, 2013) ensures that the study builds on established knowledge while contributing fresh insights specific to the Ahmedabad market.

RESULT AND DISCUSSION

Table 1. Age

		Frequency	Percent	Valid Percent	Cumulative Percent
Valid	Under 18	12	10.1	10.1	10.1
	18-25	93	78.2	78.2	88.2
	26-35	8	6.7	6.7	95.0
	36-45	3	2.5	2.5	97.5
	46-55	2	1.7	1.7	99.2
	Above 55	1	.8	.8	100.0
	Total	119	100.0	100.0	

This table categorizes respondents by age groups, showing a significant majority (78.2%) of participants between 18-25 years old, indicating that the sample skews younger. A smaller proportion (6.7%) falls within the 26-35 age range, and an even smaller percentage includes those over 36. The cumulative data indicate that nearly all participants are under 35, which might suggest that younger demographics are more engaged in online shopping. This distribution helps researchers understand which age group is most actively participating in online shopping and informs potential age-based marketing strategies.

Table 2. Gender

		Frequency	Percent	Valid Percent	Cumulative Percent
Valid	Male	73	61.3	61.3	61.3
	Female	42	35.3	35.3	96.6
	Others	4	3.4	3.4	100.0
	Total	119	100.0	100.0	

Gender distribution among respondents is shown here, with 61.3% identifying as male, 35.3% as female, and 3.4% as "Others." This balance suggests that while males constitute a majority, there is still a significant representation of other genders in the sample, potentially reflecting diverse preferences and behaviors in online shopping. Understanding gender distribution is essential in tailoring marketing approaches, as preferences may vary by gender. The cumulative percentage values provide a clear view of gender distribution within the population studied.

Table 3. Education Level

		Frequency	Percent	Valid Percent	Cumulative Percent
Valid	High School	13	10.9	10.9	10.9
	Undergraduate	78	65.5	65.5	76.5
	Postgraduate	16	13.4	13.4	89.9
	Doctorate	6	5.0	5.0	95.0
	Other	6	5.0	5.0	100.0
	Total	119	100.0	100.0	

Respondents' education levels vary, with the majority (65.5%) having an undergraduate education, followed by 13.4% with postgraduate degrees. Only 5% have attained a doctorate, while another 5% selected "Other." Education level can be a predictor of online shopping behavior, as higher educational attainment might correlate with technological comfort and purchasing power. Knowing the education level also helps identify potential

correlations between educational background and online shopping patterns, thereby helping to design more targeted advertising content.

Table 4. Employment Status

		Freque			
		ncy	Percent	Valid Percent	Cumulative Percent
Valid	Student	88	73.9	73.9	73.9
	Employed	11	9.2	9.2	83.2
	Self-Employed	10	8.4	8.4	91.6
	Unemployed	5	4.2	4.2	95.8
	Retired	5	4.2	4.2	100.0
	Total	119	100.0	100.0	

Employment status reveals that a substantial proportion of respondents (73.9%) are students, with employed and self-employed individuals making up only 17.6% combined. The remaining participants are unemployed or retired. This skew towards students is significant for understanding online shopping behaviors, as they may have distinct spending patterns and priorities compared to working professionals. The table thus gives insights into the purchasing behavior likely influenced by employment status, which could guide product and promotional targeting.

Table 5. Monthly Income (INR)

		Frequency	Percent	Valid Percent	Cumulative Percent
Valid	Less than 10,000	51	42.9	42.9	42.9
	10,001 - 25,000	20	16.8	16.8	59.7
	25,001 - 50,000	10	8.4	8.4	68.1
	50,001 - 75,000	11	9.2	9.2	77.3
	75,001 - 1,00,000	10	8.4	8.4	85.7
	Above 1,00,000	17	14.3	14.3	100.0
	Total	119	100.0	100.0	

Monthly income levels highlight that 42.9% of respondents earn less than 10,000 INR, with only 14.3% earning over 100,000 INR, suggesting a predominantly low-to-moderate income sample. These income brackets can strongly influence purchasing power and product preferences in online shopping. As income often determines spending behavior and frequency of shopping, this data is crucial for segmenting markets by income level and tailoring strategies, such as promoting budget-friendly options or exclusive deals for higher-income consumers.

Table 6. Online

		Frequency	Percent	Valid Percent	Cumulative Percent
Valid	Never	15	12.6	12.6	12.6
	Once a month	47	39.5	39.5	52.1
	2-3 times a month	34	28.6	28.6	80.7
	Weekly	17	14.3	14.3	95.0
	More than once week	a6	5.0	5.0	100.0
	Total	119	100.0	100.0	

Frequency of online shopping shows that a large segment (39.5%) shops online once a month, while 28.6% shop 2-3 times a month. Weekly shoppers comprise 14.3%, and only 5%

shop daily. This distribution reflects the periodic shopping habits typical among consumers, with the largest group engaging monthly. Understanding shopping frequency helps in predicting the demand cycles, which in turn enables better inventory management and more effective timing of promotional campaigns tailored to varying levels of shopping frequency.

Table 7. ANOVA between Age and Factors

	Table 7.	Sum	of	Mean		
		Squares	df	Square	F	Sig.
Platform	Between Groups	38.415	5	7.683	4.199	.002
	Within Groups	206.745	113	1.830		
	Total	245.160	118			
Products	Between Groups	45.374	5	9.075	4.621	<.001
	Within Groups	221.903	113	1.964		
	Total	267.277	118			
Spend	Between Groups	24.507	5	4.901	4.043	.002
1	Within Groups	136.989	113	1.212		
	Total	161.496	118			
Security	Between Groups	22.624	5	4.525	4.769	<.001
J	Within Groups	107.224	113	.949		
	Total	129.849	118			
Reviews	Between Groups	37.818	5	7.564	6.260	<.001
	Within Groups	136.535	113	1.208		
	Total	174.353	118			
Trust	Between Groups	31.331	5	6.266	5.393	<.001
	Within Groups	131.308	113	1.162		
	Total	162.639	118			
Frequency	Between Groups	3.646	5	.729	.747	.590
1 3	Within Groups	110.320	113	.976		
	Total	113.966	118			
Variety	Between Groups	33.411	5	6.682	5.488	<.001
,	Within Groups	137.581	113	1.218		
	Total	170.992	118			
Importance	Between Groups	37.698	5	7.540	7.017	<.001
1	Within Groups	121.411	113	1.074		
	Total	159.109	118			
Pricing	Between Groups	13.534	5	2.707	2.183	.061
S	Within Groups	140.113	113	1.240		
	Total	153.647	118			
Offers	Between Groups	10.634	5	2.127	2.496	.035
	Within Groups	96.290	113	.852		
	Total	106.924	118			
Convenience	Between Groups	17.890	5	3.578	3.140	.011
Convenience	Within Groups	128.749	113	1.139		
	Total	146.639	118			
Delivery	Between Groups	14.665	5	2.933	2.937	.016
	Within Groups	112.831	113	.999	,,,,	
	Total	127.496	118	,		
Timesaving	Between Groups	13.842	5	2.768	2.115	.069

	Within Groups	147.906	113	1.309		
	Total	161.748	118			
Satisfaction	Between Groups	12.707	5	2.541	2.614	.028
	Within Groups	109.848	113	.972		
	Total	122.555	118			
Repurchase	Between Groups	13.366	5	2.673	2.301	.049
	Within Groups	131.273	113	1.162		
	Total	144.639	118			
Recommend	Between Groups	18.555	5	3.711	3.285	.008
	Within Groups	127.664	113	1.130		
	Total	146.218	118			
Loyalty	Between Groups	12.299	5	2.460	2.150	.065
	Within Groups	129.281	113	1.144		
	Total	141.580	118			
Device	Between Groups	18.475	5	3.695	2.774	.021
	Within Groups	150.516	113	1.332		
	Total	168.992	118			

This ANOVA table explores the relationship between age groups and various factors related to online shopping behavior. The "Sum of Squares" measures the variance, while the "df" (degrees of freedom) is used to understand variance distribution across age groups. The F-value indicates the ratio of variance between groups to within groups, and the "Sig." (significance level) reveals if the differences between age groups are statistically significant. Factors with a significant difference across age groups (p < .05) include "Platform" (p = .002), "Products" (p < .001), "Spend" (p = .002), "Security" (p < .001), "Reviews" (p < .001), "Trust" (p < .001), "Variety" (p < .001), "Importance" (p < .001), "Offers" (p = .035), "Convenience" (p = .011), "Delivery" (p = .016), "Satisfaction" (p = .028), "Repurchase" (p = .049), "Recommend" (p = .008), and "Device" (p = .021). These results indicate that age significantly influences perceptions of platform preference, product types, spending habits, and security concerns, as well as the importance placed on reviews, trust, product variety, convenience, offers, delivery options, and overall satisfaction. Such distinctions can guide marketers in tailoring their strategies to suit different age groups.

Some factors, such as "Frequency" (p = .590), "Pricing" (p = .061), "Timesaving" (p = .069), and "Loyalty" (p = .065), do not show significant differences across age groups. This indicates that these aspects may be uniformly perceived, regardless of age. For instance, pricing and time-saving benefits might be valued similarly across all age demographics, suggesting that these factors may be universally appealing in online shopping. Overall, the analysis highlights which elements of online shopping are perceived differently across age groups, providing insights for businesses to develop age-specific marketing tactics that enhance the customer experience.

Table 8. ANOVA between Gender and Factors

		Sum	of	Mean			
		Squares	df	Square	F	Sig.	
Platform	Between Groups	1.349	2	.674	.321	.726	
	Within Groups	243.811	116	2.102			
	Total	245.160	118				
Products	Between Groups	3.469	2	1.734	.763	.469	
	Within Groups	263.808	116	2.274			

	Total	267.277	118			
Spend	Between Groups	2.550	2	1.275	.930	.397
	Within Groups	158.946	116	1.370		
	Total	161.496	118			
Security	Between Groups	3.259	2	1.630	1.493	.229
	Within Groups	126.590	116	1.091		
	Total	129.849	118			
Reviews	Between Groups	1.780	2	.890	.598	.551
	Within Groups	172.573	116	1.488		
	Total	174.353	118			
Trust	Between Groups	2.561	2	1.280	.928	.398
	Within Groups	160.078	116	1.380		
	Total	162.639	118			
Frequency	Between Groups	1.416	2	.708	.730	.484
requestey	Within Groups	112.550	116	.970	.750	. 10 1
	Total	113.966	118	.,,,,		
Variety	Between Groups	4.966	2	2.483	1.735	.181
variety	Within Groups	166.025	116	1.431	1.733	.101
	Total	170.992	118	1.431		
T				1 247	000	271
Importance	Between Groups	2.694	2	1.347	.999	.371
	Within Groups	156.415	116	1.348		
D	Total	159.109	118	0.106	2.510	00.5
Pricing	Between Groups	6.392	2	3.196	2.518	.085
	Within Groups	147.255	116	1.269		
	Total	153.647	118			
Offers	Between Groups	1.319	2	.660	.724	.487
	Within Groups	105.605	116	.910		
	Total	106.924	118			
Convenien	Between Groups	5.597	2	2.799	2.302	.105
ce	Within Groups	141.041	116	1.216		
	Total	146.639	118			
Delivery	Between Groups	2.291	2	1.146	1.061	.349
	Within Groups	125.205	116	1.079		
	Total	127.496	118			
Timesaving	Between Groups	7.458	2	3.729	2.803	.065
	Within Groups	154.290	116	1.330		
	Total	161.748	118			
Satisfaction	nBetween Groups	.657	2	.328	.312	.732
	Within Groups	121.898	116	1.051		
	Total	122.555	118			
Repurchase	Between Groups	3.030	2	1.515	1.241	.293
- op ar onuse	Within Groups	141.609	116	1.221	1.211	,5
	Total	144.639	118	1.221		
Recommen	Between Groups	3.959	2	1.979	1.614	.204
d		142.260	116		1.014	.207
u	Within Groups Total			1.226		
T 14.		146.218	118	2.207	1.045	1.40
Loyalty	Between Groups	4.593	2	2.296	1.945	.148

	Within Groups	136.987	116	1.181		
	Total	141.580	118			
Device	Between Groups	4.288	2	2.144	1.510	.225
	Within Groups	164.703	116	1.420		
	Total	168.992	118			

This ANOVA table presents an analysis of variance across different gender groups concerning various online shopping factors. The "Sum of Squares" reflects the variation due to gender, the "df" (degrees of freedom) shows the number of groups minus one, and the F-value represents the variance ratio between gender groups versus within them. The "Sig." (significance level) column reveals if these gender-based differences are statistically significant.

Most factors, such as "Platform" (p = .726), "Products" (p = .469), "Spend" (p = .397), "Security" (p = .229), "Trust" (p = .398), "Frequency" (p = .484), "Variety" (p = .181), "Importance" (p = .371), and "Offers" (p = .487), show p-values above .05, indicating no statistically significant difference between gender groups. This suggests that men, women, and other genders view these aspects similarly when it comes to online shopping. For example, preferences regarding platform choice, trust, and variety do not significantly vary across gender groups, implying a broadly similar experience. While some factors, such as "Pricing" (p = .085), "Convenience" (p = .105), "Timesaving" (p = .065), and "Loyalty" (p = .148), display p-values slightly below .10, they still do not meet the strict p < .05 threshold, though they could indicate a potential trend worth further exploration. These near-significance levels suggest that gender may somewhat influence perspectives on pricing, time-saving benefits, and loyalty, albeit not strongly enough to be conclusive.

In summary, the analysis indicates that gender does not lead to major differences in how most factors related to online shopping are perceived. This outcome can inform marketers that targeting online shopping experiences based on gender might not be necessary, as the core factors are perceived uniformly across genders.

Table 9. ANOVA between Education and Factors

		Sum	of	Mean		
		Squares	df	Square	F	Sig.
Platform	Between Groups	28.544	4	7.136	3.756	.007
	Within Groups	216.615	114	1.900		
	Total	245.160	118			
Products	Between Groups	34.186	4	8.546	4.180	.003
	Within Groups	233.091	114	2.045		
	Total	267.277	118			
Spend	Between Groups	9.457	4	2.364	1.773	.139
	Within Groups	152.038	114	1.334		
	Total	161.496	118			
Security	Between Groups	14.156	4	3.539	3.487	.010
	Within Groups	115.692	114	1.015		
	Total	129.849	118			
Reviews	Between Groups	19.300	4	4.825	3.548	.009
	Within Groups	155.053	114	1.360		
	Total	174.353	118			
Trust	Between Groups	17.265	4	4.316	3.385	.012
	Within Groups	145.373	114	1.275		

	m · 1	1.60.600	110			
	Total	162.639	118	0.1.0	0.40	=0.4
	Between Groups	3.272	4	.818	.843	.501
	Within Groups	110.694	114	.971		
	Total	113.966	118			
Variety	Between Groups	11.182	4	2.796	1.994	.100
	Within Groups	159.809	114	1.402		
	Total	170.992	118			
Importance Between Groups		6.558	4	1.639	1.225	.304
	Within Groups	152.551	114	1.338		
	Total	159.109	118			
Pricing	Between Groups	11.197	4	2.799	2.240	.069
	Within Groups	142.450	114	1.250		
	Total	153.647	118			
Offers	Between Groups	1.705	4	.426	.462	.764
	Within Groups	105.220	114	.923		
	Total	106.924	118			
Convenien	Between Groups	5.376	4	1.344	1.085	.368
ce	Within Groups	141.263	114	1.239		
	Total	146.639	118			
Delivery	Between Groups	5.969	4	1.492	1.400	.239
	Within Groups	121.527	114	1.066		
	Total	127.496	118			
TimesavingBetween Groups Within Groups		3.562	4	.891	.642	.634
		158.186	114	1.388		
	Total	161.748	118			
SatisfactionBetween Groups Within Groups		6.394	4	1.599	1.569	.187
		116.160	114	1.019		
	Total	122.555	118			
Repurchase Between Groups Within Groups		5.478	4	1.370	1.122	.350
		139.160	114	1.221		
	Total	144.639	118			
Recommer	Between Groups	8.251	4	2.063	1.704	.154
d	Within Groups	137.968	114	1.210	11,01	110 .
	Total	146.218	118	1.210		
Loyalty	Between Groups	8.638	4	2.159	1.852	.124
	Within Groups	132.942	114	1.166	1.032	.121
	Total	141.580	118	1.100		
Device	Between Groups	16.567	4	4.142	3.098	.018
	Within Groups	152.425	114	1.337	3.070	.010
	Total	168.992	118	1.557		
	Total	100.374	110			

This ANOVA table examines differences in perceptions of various online shopping factors based on education level. A significant F-value (p < .05) suggests that education level impacts how participants view that specific factor.

The "Platform" factor shows a significant difference (p = .007), indicating that platform preferences vary by education. Similarly, "Products" (p = .003) reveals that different educational backgrounds influence product preferences. "Security" (p = .010) also shows

variation, suggesting differing levels of concern for secure transactions based on education. For "Reviews" (p = .009) and "Trust" (p = .012), educational background plays a significant role, with higher education likely correlating with a greater reliance on reviews and trust in platforms. Finally, the "Device" factor (p = .018) reveals that preferred devices for online shopping vary by education level, possibly due to differences in tech accessibility or preference across educational backgrounds.

Other factors, such as "Spend" (p = .139), "Variety" (p = .100), "Pricing" (p = .069), "Convenience" (p = .368), "Delivery" (p = .239), and "Loyalty" (p = .124), show no significant differences (p > .05), indicating that educational background does not largely affect views on spending habits, pricing, convenience, or loyalty. Factors such as "Timesaving" (p = .634), "Satisfaction" (p = .187), "Repurchase" (p = .350), and "Recommend" (p = .154) are also not significantly influenced by education level.

In summary, education level significantly impacts preferences on certain aspects, such as platform choice, security concerns, product preferences, and device usage, while other areas of online shopping are perceived similarly across educational backgrounds. This suggests that tailoring marketing strategies based on educational demographics could be useful in areas of platform selection, security, and device optimization.

CONCLUSION

The study provides valuable insights into how demographics, particularly age, gender, and education level, impact perceptions and preferences regarding various factors of online shopping, including platform choice, product selection, security, trust, and device usage. Through a structured analysis using ANOVA, this research highlights that certain factors, like platform preference, security concerns, and reliance on reviews, show significant variation based on demographics. This reveals that online shopping experiences and motivations are diverse and shaped by demographic distinctions, emphasizing the importance for e-commerce platforms to consider these differences when designing their user experiences and marketing strategies.

For instance, age differences significantly impact preferences for online shopping platforms and the importance placed on product variety and trust in security measures. Younger users, particularly in the 18-25 demographic, demonstrate higher engagement with online shopping, influenced by factors such as convenience and variety, whereas older groups show comparatively lower levels of interaction. Education also plays a role, with higher-educated users displaying a greater reliance on reviews and security in their decision-making processes. These findings underscore the necessity for e-commerce platforms to tailor features like product recommendations, payment security, and review visibility to align with varied consumer needs.

Future research can expand on this by exploring the psychological and behavioral motivations behind these demographic-based preferences. Additionally, longitudinal studies may examine how these preferences evolve over time with advancing technology and changing consumer behaviors. Research on the impact of cultural factors on online shopping behavior across different countries would offer a broader perspective, allowing for a more globally relevant understanding of e-commerce trends.

The global implications of these findings are significant. As e-commerce continues to grow internationally, particularly in emerging markets, understanding demographic influences on shopping behavior can help businesses cater to diverse customer bases more effectively. This can lead to higher user satisfaction, increased customer retention, and ultimately, enhanced global market penetration. By prioritizing data-driven, demographically informed strategies, e-commerce platforms can not only improve customer experience but

also contribute to the sustainable growth of the global digital economy, bridging consumer needs with technological advancements across different cultures and age groups.

REFERENCES

- Agrawal, S. R., & Mittal, D. (2024). Cashier-free checkout system: to improve in-store shopping experience. *International Journal of Retail & Distribution Management*, *52*(5), 612–625. https://doi.org/10.1108/IJRDM-09-2023-0539
- Akroush, M. N., & Al-Debei, M. M. (2015). An integrated model of factors affecting consumer attitudes towards online shopping. *Business Process Management Journal*, 21(6), 1353–1376. https://doi.org/10.1108/BPMJ-02-2015-0022
- Anaza, N., & Zhao, J. (2013). Encounter-based antecedents of e-customer citizenship behaviors. *Journal of Services Marketing*, 27(2), 130–140. https://doi.org/10.1108/08876041311309252
- Barker, J. M., & Brau, R. I. (2020). Shipping surcharges and LSQ: pricing the last mile. *International Journal of Physical Distribution & Logistics Management*, 50(6), 667–691. https://doi.org/10.1108/IJPDLM-09-2019-0292
- Bauer, J. C., Linzmajer, M., Nagengast, L., Rudolph, T., & D'Cruz, E. (2020). Gamifying the digital shopping experience: games without monetary participation incentives increase customer satisfaction and loyalty. *Journal of Service Management*, 31(3), 563–595. https://doi.org/10.1108/JOSM-10-2018-0347
- Bilgihan, A., Kandampully, J., & Zhang, T. (Christina). (2016). Towards a unified customer experience in online shopping environments. *International Journal of Quality and Service Sciences*, 8(1), 102–119. https://doi.org/10.1108/IJQSS-07-2015-0054
- Daroch, B., Nagrath, G., & Gupta, A. (2021). A study on factors limiting online shopping behaviour of consumers. *Rajagiri Management Journal*, 15(1), 39–52. https://doi.org/10.1108/RAMJ-07-2020-0038
- Davis, F., Francis Gnanasekar, M. B., & Parayitam, S. (2021). Trust and product as moderators in online shopping behavior: evidence from India. *South Asian Journal of Marketing*, 2(1), 28–50. https://doi.org/10.1108/SAJM-02-2021-0017
- Dawson, S., & Kim, M. (2009). External and internal trigger cues of impulse buying online. *Direct Marketing: An International Journal*, 3(1), 20–34. https://doi.org/10.1108/17505930910945714
- Fernie, J. (2000). Retail Insights Electronic retailing. *International Journal of Retail & Distribution Management*, 28(7), 1–34. https://doi.org/10.1108/09590552200000003
- Frasquet, M., & Ieva, M. (2024). Driving customer inspiration to foster loyalty: a study on showroomers. *Journal of Consumer Marketing*, 41(5), 583–595. https://doi.org/10.1108/JCM-06-2023-6121
- Halan, D., & Singh, E. P. (2023). Enemies to frenemies: coopetition between online and offline retailers amidst crises. *International Journal of Retail & Distribution Management*, 51(4), 425–443. https://doi.org/10.1108/IJRDM-06-2022-0208
- Han, B., Kim, M., & Lee, J. (2018). Exploring consumer attitudes and purchasing intentions of cross-border online shopping in Korea. *Journal of Korea Trade*, 22(2), 86–104. https://doi.org/10.1108/JKT-10-2017-0093
- Hong, W. (2017). The Balanced Scorecard Study on the Corporate Social Responsibility of Electronic Commerce. In *Modern Organisational Governance* (Vol. 12, pp. 161–185). Emerald Publishing Limited. https://doi.org/10.1108/S2043-052320170000012008
- Jalil, F., Yang, J., Al-Okaily, M., & Rehman, S. U. (2024). E-commerce for a sustainable future: integrating trust, green supply chain management and online shopping satisfaction. *Asia Pacific Journal of Marketing and Logistics*, *ahead-of-print*(ahead-of-print). https://doi.org/10.1108/APJML-12-2023-1188

- Jiang, P., & Rosenbloom, B. (2005). Customer intention to return online: price perception, attribute-level performance, and satisfaction unfolding over time. *European Journal of Marketing*, 39(1/2), 150–174. https://doi.org/10.1108/03090560510572061
- Johnson, O., & Ramirez, S. A. (2021). The influence of showrooming on Millennial generational cohorts online shopping behaviour. *International Journal of Retail & Distribution Management*, 49(1), 81–103. https://doi.org/10.1108/IJRDM-03-2020-0085
- Kim, E. B., & Eom, S. B. (2002). Designing effective cyber store user interface. *Industrial Management & Data Systems*, 102(5), 241–251. https://doi.org/10.1108/02635570210428276
- Kim, H.-J., & Han, S. M. (2023). Uncovering the reasons behind consumers' shift from online to offline shopping. *Journal of Services Marketing*, *37*(9), 1201–1217. https://doi.org/10.1108/JSM-02-2023-0060
- Klaus, P. (2013). The case of Amazon.com: towards a conceptual framework of online customer service experience (OCSE) using the emerging consensus technique (ECT). *Journal of Services Marketing*, 27(6), 443–457. https://doi.org/10.1108/JSM-02-2012-0030
- Krishnamurthy, S. M., & Venkitachalam, K. (2023). The changing face of retailing, 1980–2020. *Journal of Strategy and Management*, 16(1), 41–55. https://doi.org/10.1108/JSMA-02-2022-0035
- Kumar, S., Eidem, J., & Noriega Perdomo, D. (2012). Clash of the e-commerce titans. *International Journal of Productivity and Performance Management*, 61(7), 805–830. https://doi.org/10.1108/17410401211263872
- Kumar, V., Umashankar, N., & Park, I. (2014). Tracing the Evolution & Projecting the Future of In-Store Marketing. In *Shopper Marketing and the Role of In-Store Marketing* (Vol. 11, pp. 27–56). Emerald Group Publishing Limited. https://doi.org/10.1108/S1548-643520140000011000
- Lee, K. Y., Jin, Y., Rhee, C., & Yang, S.-B. (2016). Online consumers' reactions to price decreases: Amazon's Kindle 2 case. *Internet Research*, 26(4), 1001–1026. https://doi.org/10.1108/IntR-04-2014-0097
- Liu, C., & Hong, J. (2016). Strategies and service innovations of haitao business in the Chinese market. *Asia Pacific Journal of Innovation and Entrepreneurship*, 10(1), 101–121. https://doi.org/10.1108/APJIE-12-2016-012
- Liu, Y., & Tang, X. (2018). The effects of online trust-building mechanisms on trust and repurchase intentions. *Information Technology & People*, 31(3), 666–687. https://doi.org/10.1108/ITP-10-2016-0242
- Malekpour, M., Sedighi, M., Caboni, F., Basile, V., & Troise, C. (2023). Exploring digital transformation and technological innovation in emerging markets. *International Journal of Emerging Markets*, *ahead-of-print*(ahead-of-print). https://doi.org/10.1108/IJOEM-02-2023-0147
- Nigam, A., Behl, A., Pereira, V., & Sangal, S. (2023). Impulse purchases during emergency situations: exploring permission marketing and the role of blockchain. *Industrial Management & Data Systems*, 123(1), 155–187. https://doi.org/10.1108/IMDS-12-2021-0799
- Ozturkcan, S., & Okan, E. Y. (Eds.). (2018). Index. In *Marketing Management in Turkey* (pp. 455–464). Emerald Publishing Limited. https://doi.org/10.1108/978-1-78714-557-320181029
- Park, J., Shin, W., Kim, B., & Kim, M. (2024). Spillover effects of data breach on consumer perceptions: evidence from the E-commerce industry. *Internet Research*, *ahead-of-print*(ahead-of-print). https://doi.org/10.1108/INTR-11-2022-0898

Petrescu, M. (2011). Online price dispersion – more than imperfect information. *Journal of Product & Brand Management*, 20(7), 541–548. https://doi.org/10.1108/10610421111181840